
ID. PIEZA/PART DESCRIPCIÓN DESCRIPTION QTY. REF.:

1 Z-RACING screen Z-RACING screen 1 21476N/F/H/W/TM3

2 Soporte Support 1 SOPOR1P1--21476

3 Tornillo M6x16 Ø14 ISO 7380 M6x16 Ø14 ISO 7380 screw 2 TORNI-I7380-403

4 Silentblock M4 M4 silentblock 2 SILENBTM4---062

5 Arandela de nylon M4 M4 nylon washer 2 ARNV00000000311

6 Tornillo allen M4x16 ISO 7380 M4x16 ISO 7380 screw 2 TORNIAI7380-310

KTM RC 125/390 ’22-

Pg. 1/3

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Created by:  www.rrdisseny.cat

V0.02/23

M O U N T I N G  I N S T R U C T I O N SM O U N T I N G  I N S T R U C T I O N S

REF  21476 Z- R AC IN G  S C R E E N

M O U N T I N G  I N S T R U C T I O N S

REF  21476 Z- R AC IN G  S C R E E N

*Algunos componentes se suministran montados.
Some components are supplied assembled.

40 min

1 Person

EASY  Nº 6

ALLEN

 Nº 4
 Nº 2,5



KTM RC 125/390 ’22-

Pg. 2/3

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Created by:  www.rrdisseny.cat

V0.02/23

I N S T R U C C I O N E S  D E  M O N T A J E  -  M O U N T I N G  I N S T R U C T I O N S  -  M O N T A G E A N L E I T U N G

1 2

3 4
DISASSEMBLY
DESMONTAJE

DISASSEMBLY
DESMONTAJE

DISASSEMBLY
DESMONTAJE

DISASSEMBLY
DESMONTAJE

 

 

Realizar la misma operación en el otro lado.
Perform the same  operation  on  the  other  side.

Realizar la misma operación en el otro lado.
Perform the same  operation  on  the  other  side.

 

 

Realizar la misma operación en el otro lado.
Perform the same  operation  on the  other  side.



KTM RC 125/390 ’22-

Pg. 3/3

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Created by:  www.rrdisseny.cat

V0.02/23

I N S T R U C C I O N E S  D E  M O N T A J E  -  M O U N T I N G  I N S T R U C T I O N S  -  M O N T A G E A N L E I T U N G

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

5 6

7 8

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

4
4

2

3

3

6
655

A

A

 

  

    

 

1

Tornillería original
Original screwsANO apretar tornillo ID3

DO NOT tighten ID3 screw

Después de montar los retrovisores, apretar tornillos ID3
After assembly rearview mirrors, tighten ID3 screws!

!
!

Tornillería original
Original screwsA A

A

Tornillería original
Original screwsA

Realizar la misma operación en el otro lado.
Perform the same operation on the other side.


